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https://in.mashable.com/science/6742/black-holes-might-be-hiding-cores-of-dark-energy-thats-expanding-
the-universe-claim-scientists 

 

 

https://matesenelinsti.wordpress.com/2010/03/02/peliculas-y-matematicas-el-indomable-will-hunting/ 
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From: 
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We have: 

1+3+5(3)^1/3+(((sqrt(5))))*(((1+sqrt(5))/2))^4+30+3*(((5+sqrt(17))/2))*(((4+sqrt(17
))^2))^1/3 

Input: 

 
Result: 

 
 
Decimal approximation: 

 
111.8362418… 

 
Alternate forms: 

 

 

 
 

1+3+5(3)^1/3+(((sqrt(5))))*(((1+sqrt(5))/2))^4+30+3*(((5+sqrt(17))/2))*(((4+sqrt(17
))^2))^1/3 + 13 + 1/golden ratio 

Input: 

 

 
Result: 

 
 
Decimal approximation: 

 
125.45427587…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 
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Alternate forms: 

 

 

 
 

And: 

 

1+3+5(3)^1/3+(((sqrt(5))))*(((1+sqrt(5))/2))^4+30+3*(((5+sqrt(17))/2))*(((4+sqrt(17
))^2))^1/3 + 29 - golden ratio 

Input: 

 

 
Result: 

 
 
Decimal approximation: 

 
139.21820789…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 
 
Alternate forms: 

 

 

 
 
Series representations: 
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8 
 

 
 
 

1/7(((1+3+5(3)^1/3+(((sqrt(5))))*(((1+sqrt(5))/2))^4+30+3*(((5+sqrt(17))/2))*(((4+s
qrt(17))^2))^1/3)))+1/golden ratio 

Input: 

 

 
Result: 

 
Decimal approximation: 

 
16.5946399… result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV 
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Alternate forms: 

 

 

 
 
Series representations: 
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3*(1/2*(69+31sqrt5))*(5)^1/6 

Input: 

 
 
Result: 

 
 
Decimal approximation: 
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271.309685129… 

 

Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 

 

1/2(((3*(1/2*(69+31sqrt5))*(5)^1/6)))+4 

Input: 

 
 
 
Result: 

 
 
Decimal approximation: 

 
139.654842…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 
Alternate forms: 

 

 

 
 
Minimal polynomial: 
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1/2(((3*(1/2*(69+31sqrt5))*(5)^1/6)))-11+1/golden ratio 

Input: 

 

 
Result: 

 
 
Decimal approximation: 

 
125.272876…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 

Alternate forms: 

 

 

 
Minimal polynomial: 

 
 
Series representations: 
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1/8* (((1/2(((3*(1/2*(69+31sqrt5))*(5)^1/6)))-11+Pi+4*golden ratio))) 

Input: 

 

 
 
 
Result: 

 
 
Decimal approximation: 

 
16.783571…. result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV 

 

 
Property: 

 
 
Alternate forms: 

 

 

 
 
Series representations: 
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From: 

 

 

We obtain: 

3*((1/2(227+63*sqrt13))) + 3*((1/2(785+341*sqrt5))) 

Input: 

 
 
Result: 
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Decimal approximation: 

 
3002.473366… 

 
 
Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 

 

3*((1/2(227+63*sqrt13))) + 3*((1/2(785+341*sqrt5))) - 21 + golden ratio 

Input: 

 

 
Result: 

 
 
Decimal approximation: 

 
2983.09140001123…. result very near to the rest mass of Charmed eta meson 2983.6 

 

Alternate forms: 

 

 

 
 
Minimal polynomial: 
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Series representations: 

 

 

 
 

And: 

1/24(((3*((1/2(227+63*sqrt13))) + 3*((1/2(785+341*sqrt5)))))) 

Input: 

 
 
Result: 

 
 
 
Decimal approximation: 

 
125.10305691…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 
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Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 

1/24(((3*((1/2(227+63*sqrt13))) + 3*((1/2(785+341*sqrt5))))))+11+Pi 

Input: 

 
 
Result: 

 
 
Decimal approximation: 

 
139.24464…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 

 
Property: 

 
 
Alternate forms: 

 

 

 
 
 
 
 
Series representations: 
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1/3*1/64(((3*((1/2(227+63*sqrt13))) + 3*((1/2(785+341*sqrt5))))))+2/golden ratio 

Input: 

 

 
 
Result: 

 
 
Decimal approximation: 

 
16.87395…. result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV 

 

 

 
Alternate forms: 
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Minimal polynomial: 

 
 
Series representations: 

 

 

 
 
 

From: 
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We obtain: 

1+5*(1/2)*(1*3)/(4^2)*((4*2(1-2))) 

Input: 

 
 
Exact result: 

 
 
 
Decimal form: 

 
-2.75 

1+4*(1/2)*(1*2)/(3^2)*((4*2(1-2))) 

Input: 

 
 
Exact result: 
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Decimal approximation: 

 
-2.5555... 

And: 

1+5*(1/2)*(1*3)/(4^2)*((4*2(1-2))) + (((1+4*(1/2)*(1*2)/(3^2)*((4*2(1-2)))))) 

Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
-5.305555… 

We have that: 

-Pi*[(((1+5*(1/2)*(1*3)/(4^2)*((4*2(1-2)))))) + (((1+4*(1/2)*(1*2)/(3^2)*((4*2(1-
2))))))] 

Input: 

 
Result: 

 
 
 
Decimal approximation: 

 
16.667894356…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

 

 

Property: 
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Alternative representations: 

 

 

 
 
Series representations: 

 

 

 
 
Integral representations: 

 

 

 
 

 

-[(((1+5*(1/2)*(1*3)/(4^2)*((4*2(1-2)))))) + (((1+4*(1/2)*(1*2)/(3^2)*((4*2(1-
2))))))]^3-18-7+1/golden ratio 

where 18 and 7 are Lucas numbers 

Input: 
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Result: 

 
 
Decimal approximation: 

 
124.9636915…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 

Alternate forms: 

 

 

 
 
Alternative representations: 

 

 

 
 

 

 
 

-[(((1+5*(1/2)*(1*3)/(4^2)*((4*2(1-2)))))) + (((1+4*(1/2)*(1*2)/(3^2)*((4*2(1-
2))))))]^3-13+(((5+sqrt5)/2))-1/golden ratio 

Input: 
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Result: 

 
 
Decimal approximation: 

 
139.3456575.... result practically equal to the rest mass of  Pion meson 139.57 MeV 
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27/(4Pi)+(15sqrt3)/(2Pi)+(5sqrt5)/(2Pi*sqrt3)+(85sqrt85)/(18Pi*sqrt3) 

Input: 

 
 
 
 
Result: 
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Decimal approximation: 

 
15.311919… 

 

Property: 

 
 
Alternate forms: 

 

 

 
 
Series representations: 
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(2+17*1/2*2/9*2/27)+(4+37/2*2/9*4/125)+(1+12/2*5/36*4/125)+((8+141/2*5/36*(
4/85)^3)) 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
15.299160339… 

 

 

3/2+(((27/(4Pi)+(15sqrt3)/(2Pi)+(5sqrt5)/(2Pi*sqrt3)+(85sqrt85)/(18Pi*sqrt3)))) 

Input: 

 
 
Result: 
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Decimal approximation: 

 
16.81191969…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

 

Property: 

 
 
Alternate forms: 

 

 

 
 
Series representations: 
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3/2+(89-
8)*(((27/(4Pi)+(15sqrt3)/(2Pi)+(5sqrt5)/(2Pi*sqrt3)+(85sqrt85)/(18Pi*sqrt3))))-
11+golden ratio 

where 11 is a Lucas number 

Input: 

 

 
 
Result: 

 
 
Decimal approximation: 

 
1232.383529….result very near to the rest mass of Delta baryon 1232 

 

Property: 
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Alternate forms: 

 

 

 
 
Series representations: 
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3/2+8*(((27/(4Pi)+(15sqrt3)/(2Pi)+(5sqrt5)/(2Pi*sqrt3)+(85sqrt85)/(18Pi*sqrt3))))+g
olden ratio 

Input: 

 

 
 
Result: 

 
Decimal approximation: 

 
125.6133915…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 

Property: 

 
 
Alternate forms: 
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Series representations: 
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3/2+8*(((27/(4Pi)+(15sqrt3)/(2Pi)+(5sqrt5)/(2Pi*sqrt3)+(85sqrt85)/(18Pi*sqrt3))))+1
3+golden ratio^2 

where 13 is a Fibonacci number 

Input: 

 

 
 
Result: 

 
 
Decimal approximation: 

 
139.6133915…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 

 

Property: 
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Alternate forms: 

 

 

 
 
Series representations: 
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4/Pi + 4/(Pi*sqrt3)+4/Pi+4/(Pi*sqrt5)+4/Pi 
 
Input: 

 

 
Result: 

 

Decimal approximation: 

 

5.1242338628… 

Property: 

 

Alternate forms: 
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Series representations: 

 

 

 

 

 
((1123/882-((22583/882^3)*1/2*3/16))) + ((41/72-(685)/(5*72^3)*1/2*3/16)) + 
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((23/18-283/(18)^3*1/2*3/16)) + ((3/4-(31)/(3*4^3)*1/2*3/16)) + (3/2-
23/8*1/2*3/16) 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
5.0812101333... 

Pi*((4/Pi + 4/(Pi*sqrt3)+4/Pi+4/(Pi*sqrt5)+4/Pi))+1/golden ratio 

Input: 

 

 

Result: 

 

Decimal approximation: 

 

16.71628944…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

Alternate forms: 
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Series representations: 

 

 

 

 

8Pi*((4/Pi + 4/(Pi*sqrt3)+4/Pi+4/(Pi*sqrt5)+4/Pi))+1/golden ratio-4 

where 4 is a Lucas number 

Input: 

 

 

 
Result: 

 

 
Decimal approximation: 

 

125.40407765…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

Alternate forms: 
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Series representations: 

 

 

 

 
 

8Pi*((4/Pi + 4/(Pi*sqrt3)+4/Pi+4/(Pi*sqrt5)+4/Pi))+11 

where 11 is a Lucas number 

Input: 

 

Result: 

 

Decimal approximation: 
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139.78604367…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 

Alternate forms: 

 

 

 

 
Series representations: 
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2/(Pi*sqrt3)+1/(2Pi*sqrt2)+1/(3Pi*sqrt3)+2/(Pi*sqrt11)+1/(2Pi*sqrt2) 

Input: 

 

Result: 

 

Decimal approximation: 

 

0.845838525… 
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Property: 

 

Alternate forms: 

 

 

 

 
Series representations: 
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43 
 

 

 
 

 
(1/3+9/27*1/2*3/16)+(1/9+11/729*1/2*3/16)+((3/49+(4^3)/(49^3)*1/2*3/16))+((19/
99+299/(99^3)*1/2*3/16))+((1103/(99^2)+27493/(99^6)*1/2*3/16)) 

Input: 

 
 
 



44 
 

Exact result: 

 
 
Decimal approximation: 

 
0.84287216... 

12/(((2/(Pi*sqrt3)+1/(2Pi*sqrt2)+1/(3Pi*sqrt3)+2/(Pi*sqrt11)+1/(2Pi*sqrt2))))+golde
n ratio^2 

Input: 

 

 

Result: 

 

Decimal approximation: 

 

16.8051139015…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

Property: 

 

Alternate forms: 
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Series representations: 
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8*12/(((2/(Pi*sqrt3)+1/(2Pi*sqrt2)+1/(3Pi*sqrt3)+2/(Pi*sqrt11)+1/(2Pi*sqrt2))))+11
+1/golden ratio 

where 8 is a Fibonacci number and 11 is a Lucas number 

Input: 

 

 

Result: 

 

Decimal approximation: 

 

125.1148742…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

Property: 

 

Alternate forms: 
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Series representations: 
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8*12/(((2/(Pi*sqrt3)+1/(2Pi*sqrt2)+1/(3Pi*sqrt3)+2/(Pi*sqrt11)+1/(2Pi*sqrt2))))+29-
Pi 

where 29 is a Lucas number 

Input: 

 

Result: 

 

Decimal approximation: 

 

139.3552475…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 

Property: 

 

Alternate forms: 
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Series representations: 
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Now, we have that, from the sum of the three results: 

(0.84583852569 + 5.1242338628 + 15.311919692398) =  21.281992080888 

From which: 

1/10^52 ((((1+1/(0.84583852569 + 5.1242338628 + 
15.311919692398)+55/10^3+(34+3)/10^4)))) 

where 55, 34 and 3 are Fibonacci numbers 

Input interpretation: 

 
Result: 

 
1.1056880825…*10-52 result practically equal to the value of Cosmological Constant 
1.1056*10-52 m-2 

 

 

(0.84583852569 + 5.1242338628 + 15.311919692398)-5+1/golden ratio 

Input interpretation: 
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Result: 

 

16.900026070…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

 
Alternative representations: 

 

 

 

 

8*(((0.84583852569 + 5.1242338628 + 15.311919692398)-5))-4-1/golden ratio 

where 8 is a Fibonacci number and 4 is a Lucas number 

Input interpretation: 

 

 

 
Result: 

 

125.63790266…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 
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Alternative representations: 

 

 

 

 

8*(((0.84583852569 + 5.1242338628 + 15.311919692398)-5))+11-golden ratio 

where 11 is a Lucas number 

Input interpretation: 
 

 
 
Result: 

 
139.63790266....  result practically equal to the rest mass of  Pion meson 139.57 MeV 
 

 

Example of Ramanujan mathematics applied to the physics: DARK ENERGY 
AND DARK MATTER 

 

From: 

 
arXiv:1103.5870v3 [astro-ph.CO] 20 Apr 2011 
Dark Energy 
Miao Li, Xiao-Dong Li, Shuang Wang and Yi Wang 
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We have that: 

 

 

and: 

 

 

and: 
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From the formula concerning the Coefficients of the '5th order' mock theta function 
𝜙଴(q), we obtain, for n = 295: 

sqrt(golden ratio) * exp(Pi*sqrt(295/30)) / (2*5^(1/4)*sqrt(295)) 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 

 

470.1556217797… 

Property: 

 

Alternate forms: 
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Series representations: 
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Note that, from the formula concerning the Coefficients of the '5th order' mock theta 
function 𝜓ଵ(q), we obtain for n = 137: 

sqrt(golden ratio) * exp(Pi*sqrt(137/15)) / (2*5^(1/4)*sqrt(137)) 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 

 

482.723126515… 

Property: 

 

Alternate forms: 
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Series representations: 

 

 

 

 
 

 We have that:
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sqrt(golden ratio) * exp(Pi*sqrt(199/15)) / (2*5^(1/4)*sqrt(199)) 

Input: 

 

 
 
Exact result: 

 
 
Decimal approximation: 

 
2810.750015888… 

 

Property: 

 
 
Alternate forms: 

 

 
 
Series representations: 
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sqrt(golden ratio) * exp(Pi*sqrt(138/15)) / (2*5^(1/4)*sqrt(138)) 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 
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497.89774595… 

Property: 

 

Alternate forms: 

 

 

 
Series representations: 
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From: 

 
 

we obtain for q = √11
ఴ

: 

1.3495+1.3495^3(1+1.3495)+1.3495^6(1+1.3495)(1+1.3495^2)+1.3495^10(1+1.349
5)(1+1.3495^2)(1+1.3495^3) 

Input interpretation: 

 
 
Result: 

 
506.26216333… 
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1.3495+1.3495^3(1+1.3495)+1.3495^6(1+1.3495)(1+1.3495^2)+1.3495^10(1+1.349
5)(1+1.3495^2)(1+1.3495^3)-Pi 

Input interpretation: 

 

Result: 

 

503.121… 

 
Alternative representations: 

 

 

 

 
 
Series representations: 
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Integral representations: 

 

 

 

 

 Now, we have that: 

 

 

 

Thence: 
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0.313(0.272*0.704^2)^(-0.419)*((1+0.607(0.272*0.704^2)^0.674)) 

Input: 

 
 
Result: 

 
0.838735.... = b1 

 

0.238(0.272*0.704^2)^0.223 

Input: 
 

 
Result: 

 
0.152231....= b2 

 

((1291*(0.272*0.704^2)^0.251)) / ((1+0.659(0.272*0.704^2)^0.828)) * 
((1+0.838735(0.216*0.704^2)^0.223)) 

Input interpretation: 

 
 
Result: 

 
1047.22280 = 𝑧ௗ 
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1/1370((((((1291*(0.272*0.704^2)^0.251)) / ((1+0.659(0.272*0.704^2)^0.828)) * 
((1+0.838735(0.216*0.704^2)^0.223)))))) 

Input interpretation: 

 
 
Result: 

 
0.7643962...  

We have also that, from 

 

 

 

We note that, from the following calculations, we obtain: 

 

1/Pi(2.0663656771) + 1/5(0.5269391135) 

Input interpretation: 
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Result: 

 

0.76313244619…. result very near to the previous 0.7643962... 

 
Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
Integral representations: 
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Now, we have that: 

 

Ωde = 0.73  and c = 1,  c  > 1 = 3;  c < 1 = 1/2 or 0.9991104684, -8, -1729, -(1723 + 1)  

 

-1/3-2/3(sqrt0.73) 

Input: 

 
 
Result: 

 
-0.9029336... 

 

 

-1/3-2/3(sqrt0.73)/(3) 

Input: 

 
 
Result: 

 
-0.5232001... 

 

-1/3-2/3(sqrt0.73)/(0.5) 

Input: 
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Result: 

 
-1.47253... 

 

-1/3-2/3(sqrt0.73)/(0.9991104684) 

Input interpretation: 

 
 
Result: 

 
-0.9034407.... 

 

-1/3-2/3(sqrt0.73)/(-8) 

Input: 

 
 
Result: 

 
-0.2621333... 

 

-1/3-2/3(sqrt0.73)/(-1729) 

Input: 

 
 
 
Result: 

 
-0.333003894... 

 

-1/3-2/3(sqrt0.73)/-(172^3+1) 
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Input: 

 
 
Result: 

 
-0.3333332213935... 

 

We note that increasing the value of c < 1, the result tend to -1/3  

 

From the above expression, we obtain: 

[1/1370((((((1291*(0.272*0.704^2)^0.251)) / ((1+0.659(0.272*0.704^2)^0.828)) * 
((1+0.838735(0.216*0.704^2)^0.223))))))]^1/512 

Input interpretation: 

 
 
Result: 

 
0.99947539.... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓  
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1/4*log base 0.99947539[1/1370((((((1291*(0.272*0.704^2)^0.251)) / 
((1+0.659(0.272*0.704^2)^0.828)) * ((1+0.838735(0.216*0.704^2)^0.223))))))]-
Pi+1/golden ratio 

 
 
 
Input interpretation: 

 

 

 

 
Result: 

 

125.476…. result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 

 
Alternative representation: 

 

 
Series representations: 
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1/4*log base 0.99947539[1/1370((((((1291*(0.272*0.704^2)^0.251)) / 
((1+0.659(0.272*0.704^2)^0.828)) * 
((1+0.838735(0.216*0.704^2)^0.223))))))]+11+1/golden ratio 

where 11 is a Lucas number 

Input interpretation: 

 

 

 

 
Result: 

 

139.617…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 

 
Alternative representation: 

 

 
 



72 
 

Series representations: 

 

 

 

From: 

Warm dark energy 
Gianguido DallAgata, Sergio Gonzalez-Martin, Alexandros 
Papageorgiou, Marco Peloso - arXiv:1912.09950v1 [hep-th] 20 Dec 2019 

 

 

 

We have the following equation: 
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For k = 1, we have that: 

Indefinite integral: 

 
thence is equal to 1 

 

Now, we have that: 

x/(2*6e-59*(2.435e+18)^4) = 4/(729Pi^2)*(((1*10^12)^(4/3)))/(((10^-2)^4)))*(((6e-
59*(2.435e+18)^4))/((2.435e+18)^4) 

Input interpretation: 

 
Result: 

 
Plot: 

 
 
Alternate form: 

 
 
Alternate form assuming x is real: 

 
 
Solution: 

 
1.40722*10-22 
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1.40722e-22/(2*6e-59*(2.435e+18)^4) 

Input interpretation: 

 
 
Result: 

 
3.335683914…*10-38 

4/(729Pi^2)*(((1*10^12)^(4/3)))/(((10^-2)^4)))*(((6e-
59*(2.435e+18)^4))/((2.435e+18)^4) 

Input interpretation: 

 
 
Result: 

 
3.335676827…*10-38 

 

(((((4/(x*Pi^2)*(((1*10^12)^(4/3)))/(((10^-2)^4)))*(((6e-
59*(2.435e+18)^4))/((2.435e+18)^4)))))) = 3.335676827e-38 

Input interpretation: 

 

 
Result: 
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Plot: 

 

Alternate form assuming x is positive: 
 

Alternate form assuming x is real: 

 

Solution: 

 

729   

 

And: 

(((((4/((Pi^2)(x+1))*(((1*10^12)^(4/3)))/(((10^-2)^4)))*(((6e-
59*(2.435e+18)^4))/((2.435e+18)^4)))))) = 3.335676827e-38 

Input interpretation: 

 

Result: 
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Plot: 

 

Alternate form: 

 

Alternate form assuming x is positive: 
 

Alternate form assuming x is real: 

 

Solution: 

 

728 = 93 – 1 (Ramanujan cube) 
 
 
 
From: 
 
Baryogenesis and dark matter from B mesons 
Gilly Elor, Miguel Escudero and Ann E. Nelson 
(Received 17 October 2018; published 20 February 2019) 
 
 
We have that: 
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We observe that from the value 4341.05, adding the proton mass in MeV, we obtain: 
 
4341.05 + 938.272046 = 5279.322 that is practically equal to the rest mass of B 
meson 5279.15±0.31  
 
Thence, the value 4341.05 is the mass of the dark sector 𝜓 baryon. 
 
It would therefore seem that from the mass of the proton, added to the dark Dirac 
fermion mass, we obtain that of the particle under examination: the B meson. It is 
therefore the proton, together with these quantities of dark Dirac fermion masses, to 
play a fundamental role in the formation of particles of baryonic or mesonic matter. 
 
 
 

With regard 938.272046, we note that, from the formula concerning the Coefficients 
of the '5th order' mock theta function 𝜓ଵ(q), we obtain, for n = 159: 
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sqrt(golden ratio) * exp(Pi*sqrt(159/15)) / (2*5^(1/4)*sqrt(159)) + 3*8/5 

where 3, 5 and 8 are Fibonacci numbers 

Input: 

 

 

 
Exact result: 

 

Decimal approximation: 

 

938.291438… 

Property: 

 

Alternate forms: 
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Series representations: 
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From the following 7th order Ramanujan mock theta function 

 

For q equal to: 
 
((-21.79216*((-e^(-0.5))))) 
 
Input interpretation: 

 
 
Result: 

 
13.2176... 
 
 
We have that: 
 
((((1+(13.2176)/(1-13.2176^2) + (13.2176)^4 / ((1-13.2176^3)(1-13.2176^4)))) + 
((((13.2176)^9 / ((1-13.2176^4)(1-13.2176^5)(1-13.2176^6))))   
 
Input interpretation: 

 
 
Result: 

 
0.924340821... 
 
From which: 
 
(((10^3*(((((1+(13.2176)/(1-13.2176^2) + (13.2176)^4 / ((1-13.2176^3)(1-
13.2176^4)))) + ((((13.2176)^9 / ((1-13.2176^4)(1-13.2176^5)(1-
13.2176^6)))))))))))+11+3 
  
Input interpretation: 
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Result: 

 
938.340821... 
 
We have also the value (absolute value) 4267.24 concerning always a Ramanujan 
mock theta function. Note that, adding this value to 938.340821, we obtain 
5205.580821 . Thence from the previous expression, performing some calculations, 
we obtain finally: 
 
4267.24+(((10^3*(((((1+(13.2176)/(1-13.2176^2) + (13.2176)^4 / ((1-13.2176^3)(1-
13.2176^4)))) + ((((13.2176)^9 / ((1-13.2176^4)(1-13.2176^5)(1-
13.2176^6)))))))))))+76+11+1/golden ratio 
 
where 76 and 11 are Lucas numbers 
 
Input interpretation: 

 

 
 
Result: 

 
5279.2….result practically equal to the rest mass of B meson 5279.26 
 
 
Alternative representations: 

 



82 
 

 

 
  
 
 
We have also that: 
 

 
(130sqrt5+29sqrt101)+(169440+7540sqrt505)^1/2 = 
(((sqrt(1/8(113+5sqrt505))+sqrt(1/8(105+5sqrt505)))))^3 
 
Input: 

 
 
Exact result: 

 
Alternate forms: 
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If we take 
 
(((sqrt(1/8(113+5sqrt505))+sqrt(1/8(105+5sqrt505)))))^3 
 
Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
1164.2696…. 
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Alternate forms: 

 

 

 
Minimal polynomial: 

 
 
We note that: 
 
(((5+sqrt5)/2))*(((sqrt(1/8(113+5sqrt505))+sqrt(1/8(105+5sqrt505)))))^3 + 
938.340821+128+1/golden ratio 
 
Input interpretation: 

 

 
Result: 
 

 
5279.325844...  
 
And also this result is practically equal to the rest mass of B meson 5279.26 
 
Now, we have that: 
 

 
 



85 
 

We observe the values of range and of benchmark (point of reference-value) of 
Majorana DM and the Scalar DM: 
 

   
 
The two means are: (0.3+2.7+1+1.8) / 4 = 1.45   with a minimum of 0.3 and a 
maximum of 2.7 for the mξ , while  (1.2+2.7+1.5+1.3) / 4 = 1.675  with a minimum 
of 1.2 and a maximum of 2.7 
The mean of all values is 1.5625  and the inverse is 0.64 
We have also: 
 
1+(((8/(((0.3+2.7+1+1.8)+(1.2+2.7+1.5+1.3)))))) 
 
Input: 

 
 
Result: 

 

1.64 ≈ ζ(2) = 
గమ

଺
= 1.644934…  

 
The means of two benchmark is the same: 1.4 GeV value very near to the following 
Ramanujan mock theta function: 
 

 
 
 
((((((1+(0.449329)/(1+0.449329^2) + (0.449329)^4 / 
((1+0.449329^2)(1+0.449329^4)))) 
 
Input interpretation: 

 
 
Result: 

 
𝝓(𝒒) = 1.40643658… 
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We have that: 
 

 
 
 
 

  
 
 

For mY = 994  and = 0.29 , we obtain: 
 
 
1/10^(3)*((x-3)/(2))^4 * (((10^3)/(994) * (0.29/0.53)))^4 
 
Input: 

 
Result: 

 
Plots: 
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Alternate forms: 
 

 

 

 
Expanded form: 
 

 
Real roots: 
 

 

 
2.99962  and  3.00038 
 
Complex roots: 
 

 

 
 
Integer root: 

 
Polynomial discriminant: 

 
Properties as a real function: 

Domain 

 
Range 

 

 
Derivative: 
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Indefinite integral: 

 
Global minimum: 

 
 
 
And: 
 
1/10^(3)*((3.00038-3)/(2))^4 * (((10^3)/(994) * (0.29/0.53)))^4 
 
Input interpretation: 

 
Result: 

 
1.19662309….*10-19 
 
 
We note that from the following three values of Ramanujan mock theta functions: 
 
𝝍(𝒒) = 1.8236681145196...    f(q) = 1.1424432422...   𝝓(𝒒) = 0.50970737445... 
 
we obtain: 
 
(1.8236681145196-1.1424432422+0.50970737445) 
 
Input interpretation: 

 
Result: 

 
1.1909322467696 
 
Thence: 
 
(1.8236681145196-1.1424432422+0.50970737445)*1e-19 
 
Input interpretation: 
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Result: 

 

 
1.190932246...*10-19    
 
 
For mY = 516, we obtain:  
 
1/10^(3)*((x-3)/(2))^4 * (((10^3)/(516) * (0.29/0.53)))^4 
Input: 

 

Result: 
 

Plots: 

 

 

Alternate forms: 
 

 

 

Expanded form: 
 

Complex roots: 
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Integer root: 

 

Polynomial discriminant: 
 

Properties as a real function: 
Domain 

 

Range 

 

 

Derivative: 

 

Indefinite integral: 

 

Global minimum: 

 

Definite integral after subtraction of diverging parts: 

 

 
 
 
And: 
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1/10^(3)*((2.99982-3)/(2))^4 * (((10^3)/(516) * (0.29/0.53)))^4 
 
Input interpretation: 

 
Result: 

 
8.29582810181....*10-20 
 
From the sum of the following values of Ramanujan mock theta functions, we obtain: 
 
1/4+(1.962364415 + 2.73991141808516+ 1.897512108 + 0.50970737445 + 
1.8236681145196 - 0.54471718545239-0.34647193607819) 
 
Input interpretation: 

 
 
Result: 

 
 
And: 
 
((1/4+(1.962364415 + 2.73991141808516+ 1.897512108 + 0.50970737445 + 
1.8236681145196 - 0.54471718545239-0.34647193607819)))*1e-20 
 
Input interpretation: 

 
 
Result: 

 
8.2919743....*10-20 

 
 
Now, from the division of the two expressions, we obtain: 
 
(((((1/10^(3)*((3.00038-3)/(2))^4 * (((10^3)/(994) * (0.29/0.53)))^4)))))/ 
(((((1/10^(3)*((2.99982-3)/(2))^4 * (((10^3)/(516) * (0.29/0.53)))^4))))) 
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Input interpretation: 

 
 
Result: 

 
1.4424395940….. 

 
Input interpretation: 

 

Rational approximation: 

 

 
Possible closed forms: 
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We have also the following Ramanujan mock theta function: 
 

 
For q = 0.449329 
 
((((((1+(0.449329)/(1+0.449329^2) + (0.449329)^4 / 
((1+0.449329^2)(1+0.449329^4)))) 
 
Input interpretation: 

 
 
Result: 
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𝝓(𝒒) = 1.40643658… 
 
From which: 
 
((1+(0.449329)/(1+0.449329^2) + (0.449329)^4 / 
((1+0.449329^2)(1+0.449329^4))))+29/10^3+7/10^3 
 
where 29 and 7 are Lucas numbers 
 
Input interpretation: 

 
Result: 

 
1.4424365895..... 
 
 
We have also: 
 
(((1/(((((((((1/10^(3)*((3.00038-3)/(2))^4 * (((10^3)/(994) * (0.29/0.53)))^4)))))/ 
(((((1/10^(3)*((2.99982-3)/(2))^4 * (((10^3)/(516) * (0.29/0.53)))^4))))))))))))^1/128 
 
Input interpretation: 

 
 

Result: 

 
0.9971420928..... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
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and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓  

 

From which: 
 
log base 0.99714209 (((1/((((1/10^(3)*((3.00038-3)/(2))^4 * (((10^3)/(994) * 
(0.29/0.53)))^4)))/ (((1/10^(3)*((2.99982-3)/(2))^4 * (((10^3)/(516) * 
(0.29/0.53)))^4)))))))-Pi+1/golden ratio 
 
Input interpretation: 

 

 

Result: 

 

125.476…. result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 and to the Higgs boson mass 125.18 GeV 

 
Alternative representation: 
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Series representations: 

 

 

 
And: 
 
log base 0.99714209 (((1/((((1/10^(3)*((3.00038-3)/(2))^4 * (((10^3)/(994) * 
(0.29/0.53)))^4)))/ (((1/10^(3)*((2.99982-3)/(2))^4 * (((10^3)/(516) * 
(0.29/0.53)))^4)))))))+11+1/golden ratio 
 
where 11 is a Lucas number 
 
Input interpretation: 
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Result: 

 

139.618…. result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 

Alternative representation: 

 

 

 
 
 
 
 
Series representations: 
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From the following Ramanujan mock theta function 
 

 
 
(((((1-2*0.449329 + 2*0.449329^4 - 2*0.449329^9) / ((1-0.449329)(1-
0.449329^4)(1-0.449329^6)(1-0.449329^9))) 
 
Input interpretation: 
 

 
  
Result: 
 

 
0.346471936078.... 
 
We obtain: 
 
1/10^52((((([(((((1/10^(3)((3.00038-3)/(2))^4 
(((10^3)/(994)(0.29/0.53)))^4)))))/(((((1/10^(3)((2.99982-3)/(2))^4 
(((10^3)/(516)(0.29/0.53)))^4)))))]-0.346471936078+(11/10^3-13/10^4)))))) 
 
Where 11 is a Lucas number and 13 is a Fibonacci number 
 
Input interpretation: 
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Result: 

 
1.105667…*10-52 result practically equal to the value of Cosmological Constant 
1.1056*10-52 m-2 

 

 

From: 

 

 
 

(((0.3^4 (1.8+3)^2((1.3-1.8)(1.8+1.3))^1.5)))/(((2Pi*1.3^3(-1.8^2+3^2+1.3^2)^2))) 

 

 

Input: 

 

Result: 
 

Polar coordinates: 
 

0.000470048 
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Alternative representations: 
 

 

 

 

 
Series representations: 
 

 

 

 

 
Integral representations: 
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(x^2)*(0.3^4)/((48Pi(1.8^2+3^2)^4))*((2*1.8^5*3+5*1.8^4*3^2+8*1.8^3*3^3+9*1.
8^2*3^4+6*1.8*3^5+3*1.8^6+3*3^6)) = x 
 
Input: 

 

Result: 
 

Alternate form: 
 

Alternate form assuming x is real: 
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Solutions: 
 

 

 

45813.7 
 
(45813.7^2)*(0.3^4)/((48Pi(1.8^2+3^2)^4))*((2*1.8^5*3+5*1.8^4*3^2+8*1.8^3*3^
3+9*1.8^2*3^4+6*1.8*3^5+3*1.8^6+3*3^6)) 
 
Input interpretation: 

 

Result: 

 

45813.710256…. 

 

Alternative representations: 
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Series representations: 

 

 

 

 
Integral representations: 
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And also: 
 
45813.710256353*(((((((0.3^4 (1.8+3)^2((1.3-1.8)(1.8+1.3))^1.5)))/(((2Pi*1.3^3(-
1.8^2+3^2+1.3^2)^2))))))) 
 
Input interpretation: 

 

Result: 
 

Polar coordinates: 
 

21.5347 

 
Alternative representations: 
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Series representations: 

 

 

 

Integral representations: 
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And: 
 
2Pi*45813.710256353*(((((((0.3^4 (1.8+3)^2((1.3-
1.8)(1.8+1.3))^1.5)))/(((2Pi*1.3^3(-1.8^2+3^2+1.3^2)^2)))))))-4i 
 
Where 4 is a Lucas number 
 
Input interpretation: 

 

 

Result: 
 

Polar coordinates: 
 

139.306  result practically equal to the rest mass of  Pion meson 139.57 MeV 
 
 

 
Alternative representations: 
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We note that, from the formula concerning the Coefficients of the '5th order' mock 
theta function 𝜓ଵ(q), we obtain, for n = 318: 

 
sqrt(golden ratio) * exp(Pi*sqrt(318/15)) / (2*5^(1/4)*sqrt(318)) + 123 + 29 - 2 
 
where 123, 29 and 2 are Lucas numbers 
 
Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

45813.4017208…. 

Property: 

 

Alternate forms: 
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Series representations: 
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Now, we have that: 
 

 
 
 
 
(x^4)*(((0.08333^2))/((32Pi*25^4)))*(((1+(2*1.8^2*45813.7^2)/(3*0.08333^2)))) = 
x 
 
Input interpretation: 

 
Result: 
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Alternate form: 
 

Alternate form assuming x is real: 
 

 
Real solutions: 

 

 
0.205371 

 

Complex solutions: 
 

 
 
And: 
 
(0.205371^4)*(((0.08333^2))/((32Pi*25^4)))*(((1+(2*1.8^2*45813.7^2)/(3*0.08333
^2)))) 
 
Input interpretation: 

 

Result: 

 

0.205372… 
 
Alternative representations: 
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Series representations: 

 

 

 

 
Integral representations: 

 

 

 

 
 
(0.205371^4)*(((0.08333^2))/((8Pi*3.3^4)))*(((1+(1.3^2*45813.7^2)/(6*0.08333^2)
))) 
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Input interpretation: 

 

 
Result: 

 

352.847… 

Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 
 

 

 

 

 
From which: 
 
(((0.205371^4)*(((0.08333^2))/((8Pi*3.3^4)))*(((1+(1.3^2*45813.7^2)/(6*0.08333^
2)))))) / 
((((0.205371^4)*(((0.08333^2))/((32Pi*25^4)))*(((1+(2*1.8^2*45813.7^2)/(3*0.083
33^2))))))) 
 
Input interpretation: 

 

Result: 

 

1718.0902354…. 
 
Alternative representations: 
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And: 
 
(((0.205371^4)*(((0.08333^2))/((8Pi*3.3^4)))*(((1+(1.3^2*45813.7^2)/(6*0.08333^
2)))))) / 
((((0.205371^4)*(((0.08333^2))/((32Pi*25^4)))*(((1+(2*1.8^2*45813.7^2)/(3*0.083
33^2))))))) +11 
 
Where 11 is a Lucas number 
 
Input interpretation: 

 

 
Result: 

 

1729.09023547…..  

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
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Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

 
Alternative representations: 
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